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7 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3ImZEBZ D -~ — — —
s 1.00 | 0.00 ~ 4.54 54.19 | =hs | 000 ~ 4354 1.98 10.67 Thlst 1.00 | 6.00 ~ 5.00 54.19 | =nh4 | 5.00 ~ 6.00| 1.98 10.67
2 100kN/m%z#Z5| 100|000 ~ 058 10857 |3m&E#EZB| — ~ — — — | 100kN/miZ#825 | .00 | 1060 ~ 1220 10857 |3m%EBZ5 - ~ — — —
s 1.00 | 0.68 ~ 836 100.00 | #nLst | 0.00 ~ 836 | 2.25 12.02 Thst 1.00 | 6.00 ~ 10.60 100.00 | =nLSY | 6.00 ~ 1220) 2.25 12.02
3 100kN/mM%{8Z % — - ~ — — |3mZEBZB| — ~ — — — | 100kN/m%#8Z.% — - ~ — — |3m%iBZ D - ~ — — —
st 1.00 | 0.00 ~ 752 96.16 | =nSt | 000 ~ 7562|210 11.25 Thlst 1.00 | 6.00 ~ 10.00 96.16 | =nhs | 5.00 ~ 1000]| 2.10 11.25
4 100kN/m%E#8z5| 1.00 | 000 ~ 116 117.53 |3m&E#BzB| — ~ — — — | 100kN/m#%#B25 | .00 | 11.84 ~ 1614 117.53 |3mEBZ3 -~ — — —
ZhLst 1.00 | 1.16 ~ 895 100.00 | #hst | 0oo ~ 895|219 11.70 st 1.00 | 6.00 ~ 11.34 100.00 | #nst | 6.00 ~ 1614)] 2.19 11.70
5 100kN/m%E#8z5| 1.00 | 000 ~ 087 11307 |3m&E#BzZB| — ~ — — — | 100kN/m#%#825% | .00 | 1066 ~ 1320 113.07 |3mEBZ3 -~ — — —
s 1.00 | 0.87 ~ 866 100.00 | #nst | 000 ~ 866|227 12.15 Thst 1.00 | 6.00 ~ 10.66 100.00 | =hst | 6.00 ~ 1320| 2.27 12.15
P 100kN/m%E#8z5| 1.00 | 000 ~ 100| 11499 |3mEBZB| — ~ — — — | 100kN/m%#z25 | 1.00 | 1073 ~ 1370 114.99 |3m%E#BZS - ~ — — —
s 1.00 | 1.00 ~ 878 100.00 | =nLst | 000 ~ 878 | 2.29 12.25 Thst 1.00 | 6.00 ~ 10.73 100.00 | =nLst | 6.00 ~ 1370| 2.29 12.25
7 100kN/m%E#8z5| 1.00 | 000 ~ 100| 11499 |3mEBZB| — ~ — — — | 100kN/m%#25 | 1.00 | 1073 ~ 1370 114.99 |3m%E#BZS - ~ — — —
Thilst 100|100 ~ 878\ 100.00| FhLs | 0oo ~ 878| 2.29 12.25 Fhst 1.00 | 6.00 ~ 1073 100.00 | Tnst | 6.00 ~ 1370] 2.29 12.25
P 100kN/m%Z#Bz25% | 1.00 | 000 ~ 097 11462 |3mx#Bz25| — ~ — — — | 100kN/m%#BZ2% | 1.00 | 1080 ~ 1370 114.62 |3m%Ei#BZ% - ~ — — —
FhLst 1.00 1097 ~ 876 100.00 | =hst | 0oo ~ 876 | 231 12.35 Thist 1.00 | 6.00 ~ 10.80 100.00 | =hst | 6.00 ~ 1370| 2.31 12.35
9 100kN/m%Z#Bz2% | 1.00 | 000 ~ 097 11462 |3mxB2B| — ~ — — — | 100kN/m%#BZ2% | 1.00 | 1080 ~ 1370 114.62 |3m%Ei#BZ% - ~ — — —
FhLst 1.00 1097 ~ 876 100.00 | =hst | 0oo ~ 876 | 231 12.35 ZhLst 1.00 | 6.00 ~ 10.80 100.00 | =hst | 6.00 ~ 1370| 2.31 12.35
10 100kN/ M%#2Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EEZ S - ~ — — —
ThLst 1.00 | 0.00 ~ 5.89 73.78 | EnS | 000 ~ 589 1.99 10.63 Fhst 1.00 | 6.00 ~ 7.50 73.78 | EnS | 6.00 ~ 760 1.99 10.63
11 100kN/MZ#22 % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#BZ % — - ~ — — |3m%EHEZ S - ~ — — —
ThLst 1.00 | 0.00 ~ 5.37 67.05 | Thst | ooo ~ 537|209 11.16 zhst 1.00 | 6.00 ~ 7.30 67.05 | =nS | 6.00 ~ 7.30| 2.09 11.16
19 100kN/m%#8z2% | 1.00 000 ~ 0.76| 111.29 |3mZx#Bz25| — ~ — — — | 100kN/m%#BZ2% | 1.00 | 1058 ~ 1274 111.29 |3m%Ei#BZ% - ~ — — —
Thilst 1.00 076 ~ 8564 100.00 | =St | 000 ~ 854 224 11.97 TnLst 100 500 ~ 1058 100.00| #nLs | 5.00 ~ 12.74| 2.24 11.97
13 100kN/m%#z5% | 1.00 | 000 ~ 1.03| 11545 |3mxB25| — ~ — — — | 100kN/m%#BZ% | 1.00 | 1097 ~ 1466 115,45 |3mEiBZ5 - ~ — — —
Thilst 1.00 | 103 ~ 881 100.00 | #hst | 000 ~ 881 | 2.05 10.99 ZnLst 1.00 ] 5.00 ~ 1097 100.00 | FnLS | 5,00 ~ 14.66| 2.05 10.99
14 100kN/MZ#8Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EEZ 5 - ~ — — —
ThLst 1.00 | 0.00 ~ 5.54 69.14 | Thst | 000 ~ 554 | 203 10.89 Fhst 1.00 | 6.00 ~ 7.20 69.14 | =nSY | 6.00 ~ 720 2.03 10.89
15 100kN/M%#82 % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ 5 - ~ — — —
zhsn — -~ = — | Zhst -~ = — — ZznLst — — ~ — — | Zhust — ~ — —
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16 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3ImZEBZ D -~ — — —
zhst — -~ = —| #nLst -~ = — — st — - ~ — —| Enst - ~ — — —
17 100kN/mM%E#BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3m%iBZ B - ~ — — —
zhst — -~ = —| FhLst -~ = — — st — - ~ — —| Enst - ~ — — —
18 100kN/mM%{8Z % — - ~ — — |3mZEBZB| — ~ — — — | 100kN/m%#8Z.% — - ~ — — |3m%iBZ D - ~ — — —
zhst — -~ = —| FhLst -~ = — — st — - ~ — —| #nust - ~ — — —
19 100kN/mM%E#BZ % — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m#%#B 2% — - ~ — — |3ImEBZ D -~ — — —
ZhLst — - ~ — —| Fh st - ~ — — — ZhLst — - ~ — — | Fhst - ~ — — —
100kN/mM%E#BZ % ~ ImERBAD ~ 100kN/ m#%#B% % ~ ImEHBRD ~
zhst ~ zhLst ~ zhLst ~ st ~
100kN/mM%EBZ % ~ ImERBAD ~ 100kN/ m#%#8Z% % ~ ImEEAD ~
zhst ~ st ~ zhLst ~ st ~
100kN/mM%E#BZ % ~ ImERBAD ~ 100kN/ m#%#8 % % ~ ImEEAD ~
Thsn ~ ZznLst ~ ZznLst ~ Zzhus ~
100kN/mMZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm%z 5 ~ ImERBZD ~
Thsn ~ ZFnLst ~ ZznLst ~ Zzhus ~
100kN/MZ#8Z % ~ 3mEHEAD ~ 100kN/ Mm% 25 ~ ImERZD ~
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zhsn ~ ZznLst ~ ZznLst ~ Zzhust ~




